Physics 4B


Name_________________

Biot-Savart Worksheet

The following assignment is due at the beginning of our next lecture. 

Consider a portion of a current carrying wire shown below. The length of wire along each axis is equal to L=0.25m. You want to calculate determine the magnetic field at the coordinates (x,y)=(0.05m, 0.05m). Of course, you’ll need to use the principle of superposition to perform the calculation.

1. Use the right hand rule to determine the direction of the magnetic field at (x,y)=(0.05m, 0.05m)._________________

2. Write the expression
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 for the wire that lies along the x-axis.______________________

3. Write the expression
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 for the wire that lies along the y-axis.______________________

4. Write the expression
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 for the wire that lies along the x-axis._______________________

5. Write the expression
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 for the wire that lies along the y-axis._______________________

6. Calculate 
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 for the wire that lies along the x-axis.____________________________

(show your work here)

7. Calculate 
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 for the wire that lies along the y-axis.____________________________


(show your work here)

8. Write the expression
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 for the wire that lies along the x-axis._____________________

9. Write the expression
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 for the wire that lies along the y-axis._____________________

10. Write the expression 
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 for the wire that lies along the y-axis.
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